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TEPS Essential Vocabulary
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e.g.) | went to Beijing. L= 2222 i}

e.g.) He was dating with Maria. 1= nl2|0fe} HI0IEE 5t UACL
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e.g.) Would you be my partner? M| THELH7} E|HFA|ZASL 72

e.g.) Could I get you anything else. C}2 HE & ZiCt =217
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.g.) Can | get you anything else? CIZ2 X ZiCt E71?
e.g.) No, thanks. | can’t eat another bite. TTRIX|2H AJQFEtH|. 4 SIIE O HE = HE.
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If I had time to spare, | would accept the job offer. Bt2! LHA| 047 AlZt0] AACHH
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I may go to India next month. L= 0o} CI2 Eofl 2l=0| & = UL} (50%)

| might go to India next month. Lk= & QIZ0| & 3= ASK|E ZE=CE (25%)

(7P If the factory closes down, many workers will be out of work. Tt ZEH0| &5|H K2
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(L) If the factory closed down, many workers would be out of work. 2t! ZZH0| &tsICtT
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3% Choose the best answer for the blank.

1. A: Can’t you go any faster?

B: I don’t want to too much down this hill.
(A) accelerate (B) descend
(C) eliminate (D) increase

2. A: The teacher complained that Julie is sometimes mean to the other kids.

B: Oh dear. We’d better talk to her about her behavior.
(A) intense (B) aggressive
(C) distracted (D) pacified

3. A: I don’t think | can give you an exact time when | will arrive, but | can guess.

B: Sure, you can give me the time.
(A) approximate (B) intended
(C) extended (D) renewed
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